# DISTRICT OF SOUTH ORANGE AND MAPLEWOOD, NEW JERSEY Public Meeting, November 15, 2021 Personnel Fiscal Resolutions

### FINAL RESOLUTION No. 4216

The Superintendent recommends that the Board of Education approve the following personnel fiscal resolutions.

#### 4216 A. RETIREMENTS

NAME	ASSIGNMENT EFFECTIV DATE		YEARS IN DISTRICT
Betcher,	School Social Worker	1/1/22	17
Susan	CL/SM – 1.0 FTE	1/1/22	1 /
Dos Santos,	T Spanish	T Spanish 1/1/22	
Carla	SOM – 1.0 FTE		

**Background** 

The above retirees faithfully served in the public schools of South Orange and Maplewood. In appreciation of their contribution to the educational welfare of this community; they will be given recognition at the June 2022 meeting.

#### 4216 B. RESIGNATIONS

NAME	ASSIGNMENT	EFFECTIVE	YEARS IN
		DATE	DISTRICT
Florance,	Dispatcher	11/30/21	.4
Jill	DIST - 1.0 FTE		
Goodman,	Clerical Aide	1/4/22	12
Treena	SM – 1.0 FTE		
Rossen,	Library Media Specialist	12/28/21	1
Anina	SM – 1.0 FTE		

#### 4216 C. APPOINTMENTS

(This employment is conditional and subject to the disclosure requirement; pending compliance with NJ Public Law 2018, Chapter 5)

NAME	ASSIGNMENT	EFFECTIV	ACTUAL	BACKGROUND
		E DATE	SALARY	
Costello,	Instructional Coach	TBD	Current Salary +	Filling a new position
Katherine	DIST	6/30/22	2 months' pay	Terms and conditions
	1.0 FTE			subject to ongoing
				negotiations
Hart,	Instructional Coach	TBD	Current Salary +	Filling a new position
Yves	DIST	6/30/22	2 months' pay	Terms and conditions
	1.0 FTE			subject to ongoing
				negotiations
McGrath,	T 1 <sup>st</sup> /2 <sup>nd</sup> (Multiage)	1/4/22	\$57,260*	Replacing Yves Hart who is
Theresa	MAR - 1.0 FTE	6/30/22		being promoted

#### \* SOMEA salary based on 2020-21 agreement

#### 4216 D. CHANGE IN END DATE

NAME	ASSIGNMENT	OLD END DATE	NEW END DATE
Cohen,	T Business	11/19/21	11/10/21
Scott	CHS – 1.0 FTE		

#### 4216 E. CHANGE IN START DATE

NAME	ASSIGNMENT	OLD START DATE	NEW START DATE
Langley,	School Bus Driver	11/8/21	11/9/21
Nicole	DIST6 FTE		

#### 4216 F. LEAVE REPLACEMENT APPOINTMENT FOR THE 2021-22 SCHOOL YEAR

(This employment is conditional and subject to the disclosure requirement; pending compliance with NJ Public Law 2018, Chapter 5)

NAME	ASSIGNMENT	EFFECTIVE	ACTUAL	BACKGROUND
		DATE	SALARY	
Selesky,	T Dance	1/19/22	\$53,660 *	Filling in for C. Ogando
Jacqueline	MM – 1.0 FTE	6/30/22		while out on leave

### <u>4216 G. TRANSFER</u>

NAME	OLD ASSIGNMENT	NEW ASSIGNMENT	EFFECTIVE DATE
Lewis,	School Bus Driver	School Bus Aide	11/16/21
Alvin	DIST6 FTE	DIST6 FTE	6/30/22

#### 4216 H. LEAVES OF ABSENCE

NAME	ASSIGNMENT	EFFECTIVE DATE
Giarratana,	AV Tech	11/15/21-11/29/21
Jason	DIST - 1.0 FTE	(Unpaid Medical Leave)
Inn,	T SPED/INC	11/8/21-11/19/21
Hee Sook	TUS	(Paid Sick/Personal Days)
	1.0 FTE	11/22/21-12/1/21
		(Unpaid Medical Leave)
Lachmund,	T PE	12/22/21-2/28/22
Jordyn	CLIN – 1.0 FTE	(Unpaid Childcare Leave)
Lawrence,	T English	11/8/21-11/12/21
Stacey	CHS	(Paid Sick Days)
	1.0 FTE	11/15/21-12/23/21
		(Unpaid FMLA)
Leggio,	T SCI	12/13/21-1/4/22

Personnel Fiscal Resolutions FINAL Resolution No. 4216 – November 15, 2021 Page 3

Vincent	MM	(Paid Sick/Personal Days)
	1.0 FTE 1/5/22-3/4/22	
		(Unpaid FMLA)
Wieboldt,	T Math 11/30/21-6/30/22	
Katherine	SOM – 1.0 FTE	(Unpaid Childcare Leave)

## 4216 I. STIPEND

NAME	ASSIGNMENT	EFFECTIVE	SALARY
		DATE	
Lawrence,	Guildscript	10/29/21	-\$1,661.50
Stacey	CHS5 FTE	6/30/22	
Zavocki,	Science Fair	11/1/21	\$3,223
Mary Alice	MM – 1.0 FTE	6/30/22	

## 4216 J. SALARY ADJUSTMENTS

NAME	ASSIGNMENT	EFFECTIVE	ADJUSTMENT	ACTUAL
		DATE		SALARY
Bohm,	LDTC	10/1-10/29/21	\$93.25	\$1,958.25
Kathleen	CHS2 FTE	(21 days)	(per day)	
Freitas,	LDTC	10/1-10/29/21	\$98.95	\$2,077.95
Alexandra	CHS2 FTE	(21 days)	(per day)	
McCormick,	School Social Worker	10/1-10/29/21	\$71.06	\$1,492.26
Phillip	CHS2 FTE	(21 days)	(per day)	
Speth,	School Psychologist	10/1-10/29/21	\$98.95	\$2,077.95
Gregory	CHS2 FTE	(21 days)	(per day)	
Teng,	School Psychologist	10/1-10/29/21	\$89.06	\$1,870.26
Deborah	CHS2 FTE	(21 days)	(per day)	
Kaller,	T SPED/INC	10/1-10/29/21	\$76.26	\$1,601.46
Nichole	CHS2 FTE	(21 days)	(per day)	
Obasi,	T SPED/INC	10/1-10/29/21	\$78.86	\$1,656.06
Mabel	CHS2 FTE	(21 days)	(per day)	
Quinn,	T SPED/INC	10/1-10/29/21	\$83.86	\$1,761.06
Robin	CHS2 FTE	(21 days)	(per day)	
Spina,	T SPED/INC	10/1-10/29/21	\$93.86	\$1,971.06
Kathleen	CHS2 FTE	(21 days)	(per day)	
Stradford,	T SPED/INC	10/1-10/29/21	\$98.95	\$2,077.95
Lynn	CHS2 FTE	(21 days)	(per day)	
Fein,	T SPED/INC	10/1-10/11/21	\$93.25	\$652.75
Suzanne	MM2 FTE	(7 days)	(per day)	
Hesse,	T SPED/INC	10/1-10/11/21	\$64.46	\$451.22
Melissa	MM2 FTE	(7 days)	(per day)	
Simmons,	T SPED/INC	10/1-10/11/21	\$66.46	\$465.22
Adam	MM2 FTE	(7 days)	(per day)	

Personnel Fiscal Resolutions FINAL Resolution No. 4216 – November 15, 2021 Page 4

Nicosia	T SPED/INC	10/1-10/11/21	\$72.26	\$505.82
				\$303.82
Nicole	MM2 FTE	(7 days)	(per day)	
Silva,	AIT	10/18-10/29/21	\$93.25	\$932.50
Debra	MM2 FTE	(10 days)	(per day)	
Loupis,	SAC	10/1-10/26/21	\$66.26	\$1,192.68
Michael	CHS2 FTE	(18 days)	(per day)	
Clyburn,	School Counselor	10/1-10/29/21	\$83.86	\$1,761.06
Brian	CHS2 FTE	(21 days)	(per day)	
Fleming,	School Counselor	10/1-10/29/21	\$93.25	\$1,958.25
Yolande	CHS2 FTE	(21 days)	(per day)	
Mooney-Chavez,	School Counselor	10/1-10/29/21	\$83.39	\$1,751.19
Danielle	CHS2 FTE	(21 days)	(per day)	
Renelle,	School Counselor	10/1-10/29/21	\$78.91	\$1,657.11
Stephanie	CHS2 FTE	(21 days)	(per day)	
Williams,	School Counselor	10/1-10/29/21	\$60.46	\$1,269.66
Adrian	CHS2 FTE	(21 days)	(per day)	
Copeland,	Clerical Aide	9/13-10/15/21	\$9.58	\$134.12
Jeanette	JEFF – 1.0 FTE	(14 hours)	(per hour)	
Lewis,	School Bus Aide	11/16/21	-\$7,574	\$25,304
Alvin	DIST6 FTE	6/30/22		

## 4216 K. STAFF FUNDED BY TITLE 1 FUNDS

NAME	ASSIGNMENT	EFFECTIVE	ACTUAL
		DATE	SALARY
DeSarno,	Teacher	9/1/21	\$49,960
Mary	SB – .49 FTE	6/30/22	
	ACCT# 20.231.100.101.SB.0231		
Friedrich,	Teacher	9/1/21	\$46,918
Donna	SB – .49 FTE	6/30/22	
	ACCT# 20.231.100.101.SB.0231		
Miller,	Teacher	9/1/21	\$39,414
Colleen	MM – .47 FTE	6/30/22	
	ACCT# 20.231.100.101.MM.0231		
Strauss,	Teacher	9/1/21	\$31,068
Brittany	MM – .49 FTE	6/30/22	
	ACCT# 20.231.100.101.MM.0231		

## 4216 L. STAFF FUNDED BY TITLE 11-A FUNDS

NAME	ASSIGNMENT	EFFECTIVE	ACTUAL
		DATE	SALARY
Massoud,	Teacher	9/1/21	\$40,231
Nicole	CHS – .67 FTE	6/30/22	
	ACCT# 20.274.100.101.GR.0274		
Silver,	Teacher	9/1/21	\$40,231
Bianca	CHS – .59 FTE	6/30/22	
	ACCT# 20.274.100.101.GR.0274		

### 4216 M. STAFF FUNDED BY PRESCHOOL EDUCATION EXPANSION AID (PEEA)

NAME	ASSIGNMENT	EFFECTIVE	ACTUAL
		DATE	SALARY
Alcott,	Preschool Teacher	9/1/21	\$50,060
Julia	MONT – 1.0 FTE	6/30/22	
	ACCT# 20.218.100.101.MO.5900		<b>ABO</b> ( <b>O</b> (
Burns,	Preschool Secretary	7/1/21	\$58,606
Nicole	MONT – 1.0 FTE	6/30/22	
	ACCT# 20.218.200.105.MO.5900		
China-Richardson	Preschool Secretary	7/1/21	\$64,967
Felicia	DIST - 1.0 FTE	6/30/22	
	ACCT# 20.218.200.105.MO.5900		
Donovan,	Preschool Teacher	9/1/21	\$59,060
Kelly	MONT – 1.0 FTE	6/30/22	
	ACCT# 20.218.100.101.MO.5900		
Fantacone,	Preschool Teacher	9/1/21	\$60,460
Samantha	MONT – 1.0 FTE	6/30/22	
	ACCT# 20.218.100.101.MO.5900		
Field,	Master Teacher	9/1/21	\$71,060
Stacey	DIST – 1.0 FTE	6/30/22	
~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~	ACCT# 20.218.200.176.MO.5900		
Golden,	Nurse	9/1/21	\$67,760
Steffi	MONT – 1.0 FTE	6/30/22	<i>t</i> .,
Stejjt	ACCT# 20.218.200.104.MO.5900	0,0,0,22	
Goliszeski,	Preschool Teacher	9/1/21	\$55,460
Christa	MONT - 1.0 FTE	6/30/22	<i>\$22,100</i>
Christa	ACCT# 20.218.100.101.MO.5900	0/50/22	
Hannon,	Preschool Teacher	9/1/21	\$68,260
Elizabeth	MONT - 1.0 FTE	6/30/22	<i>\\$</i> 00,200
Luguvein	ACCT# 20.218.100.101.MO.5900	0/30/22	
Johnson, III	Supervisor of Preschool Ed./SPED	7/1/21	\$111,120
	DIST - 1.0 FTE	6/30/22	$\varphi_{111},120$
Leroy	ACCT# 20.218.100.103.MO.5900	0/30/22	
Lana Maga		9/1/21	\$60,460
Lane-Mega,	Preschool Teacher/Family Liaison		\$00,400
Lataeya	MONT - 1.0 FTE	6/30/22	
<b>T</b>	ACCT# 20.218.100.101.MO.5900	0/1/21	¢05 <b>3</b> 50
Leary,	Master Teacher	9/1/21	\$95,250
Karen	DIST – 1.0 FTE	6/30/22	
	ACCT# 20.218.200.176.MO.5900	0 /1 /0 1	<i><b>Ф</b>СТ 100</i>
Marfo,	Preschool Teacher	9/1/21	\$64,460
Mikita	MONT – 1.0 FTE	6/30/22	
	ACCT# 20.218.100.101.MO.5900		
Milligan,	PIRT Specialist	9/1/21	\$100,950
Rebecca	DIST - 1.0 FTE	6/30/22	
	ACCT# 20.218.200.104.MO.5900		
Pasko,	Preschool Teacher	9/1/21	\$71,060
Erika	MONT – 1.0 FTE	6/30/22	
	ACCT# 20.218.100.101.MO.5900		
Samuels,	Principal	7/1/21	\$161,968

Personnel Fiscal Resolutions FINAL Resolution No. 4216 – November 15, 2021 Page 6

Bonita	MONT – 1.0 FTE	6/30/22	
	ACCT# 20.218.200.103.MO.5900		
Pribula,	Preschool Teacher	9/1/21	\$80,660
Yisel	MONT – 1.0 FTE	6/30/22	
	ACCT# 20.218.100.101.MO.5900		
White,	Nurse	9/27/21	\$78,860
LaWanda	DIST - 1.0 FTE	6/30/22	
	ACCT# 20.218.200.104.MO.5900		